

$$\lim_{x \rightarrow 2} \frac{x^2 - d}{9x^2 + ax + b} = -\infty$$

$$x \rightarrow 2$$

حاصل: $\lim_{x \rightarrow 2} (x^2 - d) = -1$ منفرجه

(1)

صفر کوچک = $(x-2)^2 \Rightarrow$ صفر = $x^2 - 4x + 4$
 $\rightarrow a = -4$
 $b = +4$

$$a+b=0$$

$$\lim_{x \rightarrow \sqrt{4}} \frac{x}{x^2 + ax + b} = +\infty$$

$$x \rightarrow \sqrt{4}$$

صفر کوچک = $(x - \sqrt{4})^2$

(2)

$$x^2 + ax + b = (x - \sqrt{4})^2 = x^2 - 2\sqrt{4}x + 4 \Rightarrow a = -2\sqrt{4}$$

$$b = +4$$

$$\left[\frac{b}{a} \right] = \left[\frac{4}{-2\sqrt{4}} \right] = \left[\frac{\sqrt{4}}{-2} \right] = -1$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{4}})^+} \frac{[-x] + a}{|\frac{1}{\sqrt{4}}x + a| + a} = -\infty$$

$$x \rightarrow (\frac{1}{\sqrt{4}})^+$$

صفر: $|\frac{1}{\sqrt{4}}x + a| + a = 0$

$$|\frac{1}{\sqrt{4}} + a| + a = 0 \rightarrow$$

$$-a = |\frac{1}{\sqrt{4}} + a| \xrightarrow{(\cdot)^2} \text{بجای}$$

$$a^2 = a^2 + \frac{2}{\sqrt{4}}a + \frac{1}{4} \Rightarrow \frac{2}{\sqrt{4}}a = -\frac{1}{4}$$

$$a = -\frac{1}{4}$$

$$[a] = \left[-\frac{1}{4} \right] = -1$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{4}})^+} \frac{14x - \left[\frac{-2}{x^2} \right]}{x^2 + \left[\frac{1}{x^2} \right]} = \lim_{x \rightarrow (\frac{1}{\sqrt{4}})^+} \left(\frac{14x + 2}{x^2 + 12} = \frac{1}{x^2 + 12} \right) = +\infty$$

$$x \rightarrow (\frac{1}{\sqrt{4}})^+$$

$$x \rightarrow (\frac{1}{\sqrt{4}})^+$$

(3)

$$x > \frac{1}{\sqrt{4}} \rightarrow x^2 < \frac{1}{4} \rightarrow \frac{1}{x^2} > 4 \rightarrow \frac{-2}{x^2} < -8 \rightarrow \frac{2}{x^2} < -8 \rightarrow \text{حاصل} = -9$$

$$x > \frac{1}{\sqrt{4}} \rightarrow x^2 < \frac{1}{4} \rightarrow \frac{1}{x^2} > 4 \rightarrow \frac{1}{x^2} > 12 \rightarrow \text{حاصل} = 12$$

$$\lim_{x \rightarrow r^+} \frac{x^r - r}{x^r - [x^r]} = \lim_{x \rightarrow r^+} \left(\frac{x^r - r}{x^r - r} = \frac{(x-r)(r+1)}{(x-r)(x^r + rx + r^2)} \right) = \frac{r}{1r} = 1 \quad \textcircled{a}$$

$$\lim_{x \rightarrow -\infty} \left(\frac{x^2 + 14}{1x + 4\sqrt{x}} = \frac{(x+2)(x+7)}{4(\sqrt{x}+2)} \times \left(\frac{\sqrt{x^2} - 2\sqrt{x} + 4}{1 \quad 1 \quad 1} \right) \right) = \quad \textcircled{9}$$

$$\lim_{x \rightarrow -\infty} \frac{(x+2)(x+7)(1x)}{4(\sqrt{x}+2)} = \lim_{x \rightarrow -\infty} x + 9 = -\infty$$

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{r+rx} - \sqrt{r-x}}{\sqrt{1-\cos x}} = \frac{0}{0} = \lim_{x \rightarrow 0^+} \frac{\sqrt{r+rx} - \sqrt{r-x}}{\sqrt{1-\cos x}} \times \frac{\sqrt{r+rx} + \sqrt{r-x}}{\sqrt{r+rx} + \sqrt{r-x}} \times \frac{1}{1} = \quad \textcircled{v}$$

$$\lim_{x \rightarrow 0^+} \left(\frac{rx}{\sqrt{r+rx} + \sqrt{r-x}} \times \frac{1+\cos x}{\sin x} \right) = \frac{r \times \sqrt{r}}{r\sqrt{r}} = r$$

$$\lim_{x \rightarrow 0} \frac{r + \cos(\sqrt{a}x)}{rkx^r} = \frac{0}{0} \xrightarrow{\text{h\ddot{o}p}} \lim_{x \rightarrow 0} \frac{-\sin(\sqrt{a}x)}{rkx} = \frac{0}{0} \xrightarrow{\text{h\ddot{o}p}} \quad \textcircled{1}$$

$$\left[\frac{0}{0} = ? \right] \lim_{x \rightarrow 0} \frac{-\cos(\sqrt{a}x)}{rk} = \frac{0}{rk} \Rightarrow \frac{-1}{rk} = \frac{0}{rk} \Rightarrow rk = -1 \Rightarrow k = \frac{-1}{r}$$

$$\lim_{x \rightarrow 0} \frac{\sin(\sqrt{a}x)}{\frac{1}{r}x} = \frac{0}{0} \xrightarrow{\text{h\ddot{o}p}} \lim_{x \rightarrow 0} \frac{\sin(\sqrt{a}x)}{x} = \sqrt{a} = 1 \Rightarrow \quad \textcircled{a=1}$$

$$\frac{a}{k} = \frac{1}{\frac{-1}{r}} = -r$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{\sqrt{x-3a} + \sqrt{x} - \sqrt{3a}}{\sqrt{x^2-9a^2}} \stackrel{\text{h.o.p.}}{=} \lim_{x \rightarrow (\sqrt{a})^+} \frac{1}{\sqrt{x-3a}} + \frac{1}{\sqrt{x}} - 0 = \frac{x}{\sqrt{x^2-9a^2}}$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{\sqrt{x} + \sqrt{x-3a}}{(\sqrt{x})(\sqrt{x-3a})} = \frac{(\sqrt{x} + \sqrt{x-3a})(\sqrt{x-3a})(\sqrt{x+3a})}{\sqrt{x} \times x \times \sqrt{x-3a}} =$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{(\sqrt{x+3a})(\sqrt{4a})}{(\sqrt{x+3a}) \times 3a} = \frac{\sqrt{4a}}{3a} = \sqrt{\frac{4a}{9a^2}} = \sqrt{\frac{4}{9a}}$$

$$\lim_{x \rightarrow -1} \frac{1-K[x]}{x^2-1} = -\infty$$

$$\lim_{x \rightarrow (-1)^+} \frac{1-K[x]}{x^2-1} = \lim_{x \rightarrow (-1)^+} \frac{1+K}{x^2-1} = \frac{1+K}{0^-} = -\infty \rightarrow 1+K > 0 \rightarrow K > -1 \quad \text{I}$$

$$\lim_{x \rightarrow (-1)^-} \frac{1-K[x]}{x^2-1} = \frac{1+2K}{0^+} = -\infty \rightarrow 1+2K < 0 \rightarrow 2K < -1 \rightarrow K < -\frac{1}{2} \quad \text{II}$$

$$I \cap II: K \in (-1, -\frac{1}{2})$$

$$\text{اصل تفاوت} = Kx \frac{1-2Kx-1}{x} = Kx \frac{-2Kx}{x} = -2K^2x < \frac{-K}{x}$$

$$\text{عکس تفاوت} = \cos Kx \frac{1-2Kx-1}{x} - 1 < \cos Kx < 0$$

این تفاوت و عکس تفاوت
صفت هستند لذا
تفاوت در نامیه مهم
متردد دارند.